
Restar de Ceros (D)Halle cada diferencia.
100 1000 100 100- 3 - 827 - 35 - 76

1000 100 1000 1000- 6 - 28 - 770 - 409
1000 100 1000 1000- 482 - 76 - 173 - 982
1000 1000 100 100- 685 - 852 - 94 - 91
1000 100 1000 100- 263 - 54 - 467 - 17
1000 1000 1000 1000- 167 - 481 - 80 - 612
1000 100 1000 100- 145 - 61 - 569 - 33
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Restar de Ceros (D) RespuestasHalle cada diferencia.
100 1000 100 100- 3 - 827 - 35 - 7697 173 65 241000 100 1000 1000- 6 - 28 - 770 - 409994 72 230 5911000 100 1000 1000- 482 - 76 - 173 - 982518 24 827 181000 1000 100 100- 685 - 852 - 94 - 91315 148 6 91000 100 1000 100- 263 - 54 - 467 - 17737 46 533 831000 1000 1000 1000- 167 - 481 - 80 - 612833 519 920 3881000 100 1000 100- 145 - 61 - 569 - 33855 39 431 67
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